Algebra1 1.5

Solve equations with one variable.
Solve equations with two variables.
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Find the solution set of each equation if the replacement set W}G’}@
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Solve each equation.
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Find theysolution set of each equation if the replacement sets ariy: )41’)@7, 9} fnd
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Solve each equation.
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25. (4 —22+5w=25 26.7+x—(3+32+8)=3
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29. 6k+(3-10—-8)=(2-3)k + 22 30. (3-5)t + (21 — 12) = 15¢ + 32

.(24-3-5)q+l3=(2-9—42)q+(31°—24-1)
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Make a table of values for each equation if the replacement setis {—2,—1,0, 1, 2}
3. y=3x-2 38. 3.25x +0.75 =y



Solve each equation using the given replacement set.
39. t — 13 =17; {10, 13, 17, 20} 40. 14(x + 5) = 126; {3,4,5, 6, 7}



